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Section One: Listening Comprehension

1. (A) She disagrees with the man.

(B) She doesn't want to look anymore.

(C) She's quite disappointed.

(D) She didn't hear what the man said.

2. (A) He always wears suits to work.

(B) He wants the woman to wear blue.

(C) He's going to buy a blue suit.

(D) He thinks he looks good in blue.

3. (A) She wants to make an appointment for the man.

(B) She knows of a less expensive hair salon.

(C) She needs another haircut soon.

(D) She thinks her hairdresser charges too much.

4. (A) The man will be sorry later.

(B) The camera should be thrown away.

(C) It's too bad the camera didn't work.

(D) Sarah was quite embarrassed.

5. (A) Ask someone else to help the woman.

(B) Ask the woman for directions.

(C) Show the woman the map.

(D) Show the woman where the building is.

6. (A) Worried.

(B) Relieved.

(C) Indifferent.

(D) Doubtful.

7. (A) His grandmother will make a sweater for

the woman.

(B) He hasn't seen the woman in a long time.

(C) The sweater doesn't fit him.

(D) He isn't sure if the sweater is attractive.

8. (A) She'll get Larry a cold drink.

(B) She'll talk to Larry later.

(C) Larry should take off his jacket.

(D) Larry is wrong to be angry.

9. (A) He wrote down the wrong date.

(B) he won't be able to meet the woman on

Thursday.

(C) He thinks the club should meet during the day

(D) He wants to write the minutes for the last meeting.

10. (A) He's surprised the woman was late.

(B) He often gets up earlier than the woman.

(C) He lives closer to campus than the woman.

(D) He has been waiting for an hour.

11. (A) Leave the building.

(B) Check the thermostat.

(C) Close the windows.

(D) Call the maintenance people.

12. (A) She thinks the man wants to eat fish.

(B) She knows the man finished dining.

(C) She wants to cook dinner.

(D) She likes to eat out.

13. (A) When she'll finish packing.

(B) If he can go with her.

(C) How long she'll be away.

(D) When she's going to San Diego.

14. (A) Mail her unused tickets back to the office.

(B) Pick up her tickets at the symphony office.

(C) Cancel her ticket order.

(D) Write to the office for tickets.

15. (A) She has a bad memory.

(B) She's quick to forgive people.

(C) Her feelings are easily hurt.

(D) She doesn't get angry very often.

16. (A) She missed the meeting.

(B) She hasn't been feeling well.

(C) She's just finished exercising.

(D) She had to hurry to arrive on time.

17. (A) His lecture will not be well attended.

(B) He will be on campus only tonight.

(C) He went to the same school as Dr. Johnson.

(D) He and Dr. Johnson disagree on basic economic issues.

18. (A) She traveled a long distance to attend the exhibit.

(B) She likes to paint a variety of things.

(C) She thinks her painting has improved.

(D) She's glad the man saw her students' paintings.

19. (A) The woman should return the books next week.

(B) The woman doesn't have to pay any fines.

(C) The library is increasing fines to raise money for books.

(D) Books may be checked out for two weeks at a time.

20.(A) The package is in his way.

(B) He picked up the package at ten o'clock.

(C) He has to go out of his way to deliver the package.

(D) He'll leave immediately.

21.(A) She doesn't feel well

 (B) She doesn't want to leave.

(C) She won't attend the class. 
(D) She needs to get some fresh air.

22.(A) Bring the man his reading glasses. 
(B) Help the man find the right directory. 
(C) Borrow the man's glasses. 
(D) Read the number to the man.

23.(A) The man should bring his cousin to the barbecue.

(B) The barbecue is going to be very crowded.

(C) She's sorry the man can't come to the barbecue.

(D) Her cousin is coming to the barbecue too.

24.(A) Lisa and Gail should call their sister.

(B) Lisa and Gail have a lot in common.

(C) He didn't know Lisa and Gail were sisters.

(D) Lisa and Gail aren't very, much alike.

25.(A) When he can call the woman's roommate. 
(B) How much the tickets would cost.

(C) How many tickets he could get.       ;

(D) What the woman said.

26. (A) She saved for a long time to buy the sneakers.

(B) She has never seen such expensive sneakers before.

(C) She could afford the sneakers because of a discount.

(D) She's waiting until the sneakers go on sale, until the sneakers go on sale.

27. (A) Get a special attachment for the camera.

(B) Take the camera back to the store.

(C) Avoid facing the light when taking pictures.

(D) Use a brighter light for taking pictures.

28. (A) He may not want to help the man find a job.

(B) He may not make the hiring decisions at the library.

(C) He may not be working in the cataloging department this summer,

(D) He may not know the man wants a job.

29. (A) The woman ought to help him finish his work.

(B) He has already read the newspaper.

(C) The woman can have the paper.

(D) He had to work late yesterday.

30. (A) He's probably not ready to take the class yet.

(B) He's not required to study biochemistry.

(C) He's already taken biochemistry.

(D) He hasn't registered for his classes yet.

31. (A) Why Tom needs to get glasses.

(B) Research Tom has done for his chemistry paper.

(C) The disadvantages of working in an office.

(D) How using a computer can affect one's eyes.

32. (A) It helps the eyes absorb eye drops.

(B) It helps to keep the eyes moist.
(C) It improves a person's concentration.

(D) It prevents a buildup of chemicals in the eyes.

33. (A) Go to an eye doctor.

(B) Improve his computer skills.

(C) Take more frequent breaks. 

(D) Drink more coffee.     

34. (A) He has been working for a long time.

(B) He doesn't know how to use a computer.

(C) He doesn't want to write the paper.

(D) He needs to get an office job.

35. (A) Visit a new restaurant.

(B) Watch a parade.

(C) Have a picnic.

(D) Go to the beach.

36. (A) Excited.

(B) Confused.

(C) Afraid.

(D) Surprised.

37. (A) The rain ruined the food.

(B) The restaurant was closed.

(C) Neither of them brought any food.

(D) Someone took their food.

38. (A) Go home:

(B) Go to a restaurant.

(C) Unpack the car.

(D) Put a dry blanket under the tree.

39. (A) The distribution of different species of amphibians.

(B) Possible reasons for a reduction in the number of amphibians.

(C) The effects of environmental change on the fish industry.

(D) Guidelines for the responsible use of pesticides.

40. (A) By eliminating ponds.

(B) By constructing sewers.

(C) By building dams on rivers.

(D) By flooding marshes.

41. (A) They are applied to aquatic weeds by fish farmers.

(B) Amphibians release them from their skin.

(C) Irresponsible people dispose of them in ponds.

(D) They are washed into ponds by the rain.

42. (A) Pesticides can cause an amphibian's skin to dry out.

(B) Pesticides kill the insects that amphibians depend on for food.

(C) Dissolved pesticides can easily enter amphibian's bodies.

(D) Amphibians may eat plants that have been treated with pesticides.

43. (A) To ask about vacancies at the Kensington Hotel. 
(B) To oppose tearing down the Kensington Hotel. 
(C)To volunteer her help in restoring die Kensington Hotel. 
(D) To explain the history of the Kensington Hotel.

44. (A) A famous architect.

(B) A respected journalist.

(C) A well-known public official,

(D) An important historian.

45. (A) Use local volunteers.

(B) Use money from the town's funds.

(C) Ask the state for a grant.

(D) Hire a local construction company.

46. (A) It would stay open all year.

(B) It would have more rooms.

(C) It could serve as the town hall.

(D) It could bring business into the town.

47. (A) Different uses of corn.

(B) The history of the development of corn.

(C) The popularity of corn.

(D) Increasing the production of com.

48. (A) Europe.

(B) The Caribbean islands.

(C) Canada.

(D) Mexico.

49. (A) They failed to improve their strains of corn.

(B) They knew very little about cultivating corn.

(C) Their economies were based on corn.

(D) They used corn husks in building their dwellings.

50. (A) Its seeds cannot sprout on their own.

(B) It must be irrigated.

(C) It has to be protected from insects.

(D) Its stalk is not strong enough to support its weight.
Section Two: Structure and Written Expression  
1. Amber comes—from the resins of pine trees that grew in Northern Europe millions of years ago.
(A) chiefly
(B) and chiefly
(C) it is chiefly
(D) since it is chiefly
2. An adult human must take eight steps to go—as a giraffe does in one stride.
(A) as far
(B) the farther
(C) how far
(D) farther
3. When the focus of a pair of binoculars is adjusted,       
—into view.
(A) bringing distant objects
(B) distant objects can be brought
(C) and bring distant objects
(D) to bring distant objects
4.  From the Iroquois tradition of behind-the-scenes political participation by women, Alice Jemison acquired a self-confidence that-—in her later crusades.
(A) her served well
(B) served well her
(C) served her well
(D) her well served
5. Because of its importance in modern living, —in all parts of the world.
(A) algebra is studies in schools and colleges
(B) studying algebra in schools and colleges
(C) and the study of algebra in schools and colleges
(D) in schools and colleges are algebra studies
6. —in the diet is especially important for vegetarians.
(A) Enough protein is obtained
(B) Obtaining enough protein
(C) They obtain enough protein
(D) By obtaining enough protein
7. The early work of Edith Wharton—the relationship  between  the   individual   and  the community.
(A) focuses attention on
(B) focusing the attention on
(C) the attention is focused on
(D) is the attention and focus
8. Archaeologists know—35,000 years ago, but it is still unclear for precisely what purpose.
(A) drawing being practiced
(B) when the practice of drawing
(C) that drawing was practiced
(D) practicing of drawing
9. Coral reefs owe their brilliant colors to algae—in symbiosis with coral polyps.
(A) that live
(B) do they live
(C) why they live
(D) live
10. The specialized nature of anthropological research makes—that various groups of people be studied to determine their similarities and differences.
(A) imperative is
(B) it imperative
(C) it is imperative
(D) it is an imperative
11. Watercolor provides a brilliant transparency and freshness, —it allows extraordinarily free brushwork.
(A) that
(B) during
(C) which
(D) and
12. The common cold, normally—illness, can seriously threaten the health of postoperative patients.
(A) can be minor
(B) as minor
(C) minor an
(D) a minor
13. Commercial expansion from city to suburb has affected the way people in the United States—.
(A) living and working
(B) they live and work
(C) live and work
(D) to live and to work
14. Only recently—possible to separate the components of fragrant substances and to determine their chemical composition.
(A) it becomes
(B) having become
(C) has it become
(D) which becomes
15. Charles Lindbergh told reporters—never been from attempting to cross the Atlantic alone even though others had failed.
(A) that he had
(B) that he had it
(C) had it
(D) his having
16. Sculptor Duane Hanson is noted for his many life-sized and realistic figure.
A                   B                     C          D
17. A liquid does not have reach its boiling point to evaporate completely.
A        B         C              D
18. The discovery of gold in California in 1848 brought more than 40,000 prospectors there 
A                             B         C
by. two years.
D

19. Some psychologists believe what even when a person suffers from amnesia, some 
    A                      B                    C

memory remains in the unconscious.
  D

20. The Aeneid was the greatest achievement in the golden age of Latin literature, and it does 
                     A                                                  B

continued to influence poets through the centuries.
C                 D

21. The Appalachian Range of North America is made up of a broken chain of ridges, 
                                         A         B         C

plateaus, and mountainous.

D

13. Commercial expansion from city to suburb has affected the way people in the United States—.               
(A) living and working                                                  
(B) they live and work
(C) live and work                                                     
(D) to live and to work                                                  
14. Only recently—possible to separate the components of fragrant substances and to determine their chemical composition.                            
(A) it becomes
(B) having become

(C) has it become
(D) which becomes 
15. Charles Lindbergh told reporters—never been deterred from attempting to cross the Atlantic alone even though others had failed.
(A) that he had
(B) that he had it 
(C) had it                                                             
(D) his having
16. Sculptor Duane Hanson is noted for his many life-sized and realistic figure.
A                  B                      C          D
17. A liquid does not have reach its boiling point to evaporate completely.
A         B        C             D
18. The discovery of gold in California in 1848 brought more than 40,000 prospectors there 
A                             B         C
by two years.
D
19. Some psychologists believe what even when a person suffers from amnesia, some 
A                      B                     C
memory remains in the unconscious.
  D
20. The Aeneid was the greatest achievement in the golden age of Latin literature, and it does 
A                                                 B                                                                               continued to influence poets through the centuries.
C               D
21. The Appalachian Range of North America is made up of a broken chain of ridges, 
A        B         C
plateaus, and mountainous.

              D

22. Bacteria are either plants nor animals, but are single-celled organisms that reproduce most 
A                       B                                               C                                                     
commonly through binary fission. 
D
23. W. A. Burpee was one of the first merchants to establish a successfully mail order 
A         B             C           D
business.
24. Fine handmade lace is traditionally making of linen thread. 
A            B               C           D
25. The Van de Graaff generator, an electrostatic machine used of nuclear physics to study 
A        B                C
transformations in subatomic particles, produces powerful electric currents. 
D
26. New uses for plastics were found during the 1950's and 1960's in medicine, space,
     A                 B           C

 research, industrial, and architecture.
            D
27. To form a silicate glass, the liquid from which it is made must be cooled rapidly enough 
A                                          B                   C                                  
to prevent it crystallization. 
        D
28. Nearly 75 percent of the land of the Canadian province of British Columbia are covered 
A           B          C                                  D
by forests.
29. By distinguishing himself as a judge in Arizona, Sandra Day O'Connor caught President A        B                                C
Reagan's attention and was appointed the first woman justice on the Supreme Court. 
D
30. The cotton mills of a hundred years ago were hot, dust, noisy , dangerous places and the life of A         B    C
the millworkers was hard. 
D
31. Doris Humphrey, a pioneer of modern dance in the United States, was an innovative in the 
A                         B      C
technique, choreography, and theory of dance movement. 
D
32. The primary aim of science horticultural is to develop plants of the highest quality that offer 
A               B              C
the promise of high yields.
     D
33. The engineering in charge of the design of a scientific tool works in close partnership with the 
A                                                B            C
scientist and the technician. 
D
34. Hammers are made in many different shapes and sizes to do a various of jobs.
A                                 B     C       D
35. Red clover, the state flower of Vermont, was the leading leguminous hay crop of the 
A                                            B                                                                   
northeastern region of the United States until it surpassed by alfalfa.
C                           D
36. Afterward a heavy rain, a rainbow may spread all the way across the sky, its two ends seeming 
A      B                                                       C
to rest on the Earth.
   D
37.The Statue of Liberty is one of the most celebrating examples of repousse work, a process of 
A                               B
hammering metal inside a mold. 
C              D
38. Observation of the Sun, Moon, and stars has enabled humans to determine both the seasons 
A                                        B                                                 and the time from day.
C           D

39. The oriental fruit fly causes extensive damage to grapefruit, lemons, and oranges but does not 
A                                             B                                                                   harm to the trees on which the fruit grows.
C            D
40.The hardness  of mineral often gives a clue to its identity. 
A           B          C        D
Section Three: Reading Comprehension
Questions 1-9                                                              
In science, a theory is a reasonable explanation of observed events that are related. 
A theory often involves an imaginary model that helps scientists picture the way an 
observed event could be produced. A good example of this is found in the kinetic 
Line molecular theory, in which gases are pictured as being made up of many small particles 
(5)  that are in constant motion.
A useful theory, in addition to explaining past observations, helps to predict events
that have not as yet been observed. After a theory has been publicized, scientists design experiments to test the theory. If observations confirm the scientists' predictions, the 
theory is supported. If observations do not confirm the predictions, the scientists must
(10) search further. There may be a fault in the experiment, or the theory may have to be
revised or rejected.
Science involves imagination and creative thinking as well as collecting information 
and performing experiments Facts by themselves are not science. As the mathematician 
Jules Henri Poincare said: "Science is built with facts just as a house is built with 
(15) bricks, but a collection of facts cannot be called science any more than a pile of bricks 
can be called a house."
Most scientists start an investigation by finding out what other scientists have 
learned about a particular problem. After known facts have been gathered, the scientist 
comes to the part of the investigation that requires considerable imagination. Possible 
(20) solutions to the problem are formulated. These possible solutions are called hypotheses.
In a way, any hypothesis is a leap into the unknown. It extends the scientist's 
thinking beyond the known facts. The scientist plans experiments, performs calculations, 
and makes observations to test hypotheses. For without hypotheses, further investigation 
lacks purpose and direction. When hypotheses are confirmed, they are incorporated 
into theories.
1. The word "related" in line 1 is closest in meaning to                                                                                   (A) connected
(B) described
(C) completed
(D) identified
2. The word "this" in line 3 refers to                                
(A) a good example                                                       
(B) an imaginary model                                                  
(C) the kinetic molecular theory                                       
(D) an observed event                                                          
3. According to the second paragraph, a useful theory is one that helps scientists to                                       (A) find errors in past experiments
(B) make predictions                                                  
(C) observe events                                                          
(D) publicize new findings   
4. The word "supported" in line 9 is closest in meaning to
(A) finished
(B) adjusted
(C) investigated
(D) upheld
5. Bricks are mentioned in lines 14-16 to indicate how
(A) mathematicians approach science
(B) building a house is like performing experiments
(C) science is more than a collection of facts
(D) scientific experiments have led to improved technology
6. In the fourth paragraph, the author implies that imagination is most important to scientists when they
(A) evaluate previous work on a problem
(B) formulate possible solutions to a problem
(C) gather known facts
(D) close an investigation
7. In line 21, the author refers to a hypothesis as "a leap into the unknown" in order to show that hypotheses
(A) are sometimes ill-conceived
(B) can lead to dangerous results
(C) go beyond available facts
(D) require effort to formulate
8. In the last paragraph, what does the author imply is a major function of hypotheses?
(A) Sifting through known facts
(B) Communicating a scientist's thoughts to others
(C) Providing direction for scientific research
(D) Linking together different theories
9. Which of the following statements is supported by the passage?
(A) Theories are simply imaginary models of past events.
(B) It is better to revise a hypothesis than to reject it.
(C) A scientist's most difficult task is testing hypotheses.
(D) A good scientist needs to be creative
Questions 10-20
By the mid-nineteenth century, the term "icebox" had entered the American 
language, but ice was still only beginning to affect the diet of ordinary citizens in the United States. The ice trade grew with the growth of cities. Ice was used in hotels,
line     taverns, and hospitals, and by some forward-looking city dealers in fresh meat, fresh
(5)     fish, and butter. After the Civil War (1861-1865), as ice was used to refrigerate freight cars, it also came into household use. Even before 1880, half the ice sold in New York, Philadelphia, and Baltimore, and one-third of that sold in Boston and Chicago, went to families for their own use. This had become possible because a new household convenience, the icebox, a precursor of the modern refrigerator, had been invented.
(10)     Making an efficient icebox was not as easy as we might now suppose. In the early          nineteenth century, the knowledge of the physics of heat, which was essential to a 
science of refrigeration, was rudimentary. The commonsense notion that the best 
    icebox was one that prevented the ice from melting was of course mistaken, for it was 
the melting of the ice that performed the cooling. Nevertheless, early efforts to 
economize ice included wrapping the ice in blankets, which kept the ice from doing its 
job. Not until near the end of the nineteenth century did inventors achieve the delicate balance of insulation and circulation needed for an efficient icebox.
But as early as 1803, an ingenious Maryland farmer, Thomas Moore, had been on the right track. He owned a farm about twenty miles outside the city of Washington, for
(20)      which the village of Georgetown was the market center. When he used an icebox of his own design to transport his butter to market, he found that customers would pass up the rapidly melting stuff in the rubs of his competitors to pay a premium price for his butter, still fresh and hard in neat, one-pound bricks. One advantage of his icebox, Moore explained, was that farmers would no longer have to travel to market at night in order to keep their produce cool.
10. What does the passage mainly discuss?
(A) The influence of ice on the diet
(B) The development of refrigeration
(C) he transportation of goods to market
(D) Sources of ice in the nineteenth century
11. According to the passage, when did the word "icebox" become part of the language of the United States?
(A) In 1803
(B) Sometime before 1850
(C) During the Civil War
(D) Near the end of the nineteenth century
12. The phrase "forward-looking" in line 4 is closest in meaning to
(A) progressive
(B) popular
(C) thrifty
(D) well-established
13 The author mentions fish in line 5 because
(A) many fish dealers also sold ice
(B) fish was shipped in refrigerated freight cars
(C) fish dealers were among the early commercial users of ice
(D) fish was not part of the ordinary person's diet before the invention of the icebox
14. The word "it" in line 6 refers to
(A) fresh meat
(B) the Civil War 
(C)ice
(D) a refrigerator
15. According to the passage, which of the following was an obstacle to the development of the icebox?
(A) Competition among the owners of refrigerated freight cars
(B) The lack of a network for the distribution of ice
(C) The use of insufficient insulation
(D) Inadequate understanding of physics
16. The word "rudimentary" in line 12 is closest in meaning to
(A) growing
(B) undeveloped
(C) necessary
(D) uninteresting
17. According to the information in the second paragraph, an ideal icebox would
(A) completely prevent ice from melting
(B) stop air from circulating
(C) allow ice to melt slowly
(D) use blankets to conserve ice
18. The author describes Thomas Moore as having been "on the right track" (line 18-19) to indicate that
(A) the road to the market passed close to Moore s farm
(B) Moore was an honest merchant
(C) Moore was a prosperous farmer
(D) Moore's design was fairly successful
19. According to the passage, Moore's icebox allowed him to
(A) charge more for his butter
(B) travel to market at night
(C) manufacture butter more quickly
(D) produce ice all year round
20. The "produce" mentioned in line 25 could include
(A) iceboxes
(B) butter
(C) ice
(D) markets
Questions 21-30
Aside from perpetuating itself, the sole purpose of the American Academy and 
Institute of Arts and Letters is to "foster, assist and sustain an interest" in literature, 
music, and art. This it does by enthusiastically handing out money. Annual cash awards Line  are given to deserving artists in various categories of creativity: architecture, musical 
(5) composition, theater, novels, serious poetry, light verse, painting, sculpture. One award subsidizes a promising American writer's visit to Rome. There is even an award for a 
very good work of fiction that failed commercially—once won by the young John 
Updike for The Poorhouse Fair and, more recently, by Alice Walker for In Love and Trouble
(10)        The awards and prizes total about $750,000 a year, but most of them range in size
from $5,000 to $12,500, a welcome sum to many young practitioners whose work may 
not bring in that much money in a year. One of the advantages of the awards is that 
many go to the struggling artists, rather than to those who are already successful. 
Members of the Academy and Institute are not eligible for any cash prizes. Another
(15)  advantage is that, unlike the National Endowment for the Arts or similar institutions throughout the world, there is no government money involved.
Awards are made by committee. Each of the three departments—Literature 
(120 members), Art (83), Music (47)—has a committee dealing with its own field. Committee membership rotates every year, so that new voices and opinions are
(20)   constantly heard.
The most financially rewarding of all the Academy-Institute awards are the Mildred and Harold Strauss Livings. Harold Strauss, a devoted editor at Alfred A. Knopf, the 
New York publishing house, and Mildred Strauss, his wife, were wealthy and childless. They left the Academy-Institute a unique bequest: for five consecutive years, two
(25) distinguished (and financially needy) writers would receive enough money so they 
could devote themselves entirely to "prose literature" (no plays, no poetry, and no 
paying job that might distract). In 1983, the first Strauss Livings of $35,000 a year 
went to short-story writer Raymond Carver and novelist-essayist Cynthia Ozick. By 
1988, the fund had grown enough so that two winners, novelists Diane Johnson and Robert Stone, each got $50,000 a year for five years.
21. What does the passage mainly discuss?
(A) Award-winning works of literature
(B) An organization that supports the arts
(C) The life of an artist
(D) Individual patrons of the arts
22. The word "sole" in line 1 is closest in meaning to
(A) only
(B) honorable
(C) common
(D) official
23. The word "subsidizes" in line 6 is closest in meaning to
(A) assures
(B) finances
(C) schedules
(D) publishes
24. Which of the following can be inferred about Alice Walker's book In Love and Trouble!
(A) It sold more copies than The Poorhouse Fair.
(B) It described the author's visit to Rome.
(C) It was a commercial success.
(D) It was published after The Poorhouse Fair.
25. Each year the awards and prizes offered by the Academy-Institute total approximately
(A) $12.500
(B) $35,000
(C) $50.000
(D) $750,000
26. The word "many" in line 13 refers to
(A) practitioners
(B) advantages
(C) awards
(D) strugglers
27. What is one of the advantages of the Academy-Institute awards mentioned in the passage?
(A) They are subsidized by the government.
(B) They are often given to unknown artists.
(C) They are also given to Academy-Institute members.
(D) They influence how the National Endowment for the Arts makes its award decisions.
28. The word "rotates" in line 19 is closest in meaning to
(A) alternates
(B) participates
(C) decides
(D) meets
29. The word "they" in line 25 refers to
(A) Mildred and Harold Strauss
(B) years
(C) writers                                                                  
(D) plays                                                                       
30. Where in the passage does the author cite the goal of the Academy-Institute?
(A) Lines 1-3
(B) Lines 12-13
(C) Lines 19-20
(D) Lines 22-23
Questions 31-41
Archaeological records—paintings, drawings, and carvings of humans engaged in 
activities involving the use of hands—indicate that humans have been predominantly right-handed for more than 5,000 years. In ancient Egyptian artwork, for examples, the
Line  right hand is depicted as the dominant one in about 90 percent of the example. Fracture
(5) or wear patterns on tools also indicate that a majority of ancient people were right-handed. Cro-Magnon cave paintings some 27,000 years old commonly show outlines of human 
hands made by placing one hand against the cave wall and applying paint with the 
other. Children today make similar outlines of their hands with crayons on paper. With 
few exceptions, left hands of Cro-Magnons are displayed on cave walls, indicating that
(10)  the paintings were usually done by right-handers.
Anthropological evidence pushes the record of handedness in early human ancestors back to at least 1.4 million years ago. One important line of evidence comes from 
flaking patterns of stone cores used in toolmaking: implements flaked with a 
clockwise motion (indicating a right-handed toolmaker) can be distinguished from
(15)   those flaked with a counter-clockwise rotation (indicating a left-handed toolmaker).
Even scratches found on fossil human teeth offer clues. Ancient humans are thought 
to have cut meat into strips by holding it between their teeth and slicing it with stone 
knives, as do the present-day Inuit. Occasionally the knives slip and leave scratches on 
the users' teeth. Scratches made with a left-to-nght stroke direction (by right-handers)
(20)  are more common than scratches in the opposite direction (made by left-handers).
Still other evidence comes from cranial morphology: scientists think that physical 
differences between the right and left sides of the interior of the skull indicate subtle 
physical differences between the two sides of the brain. The variation between the 
hemispheres corresponds to which side of the body is used to perform specific
(25)  activities. Such studies, as well as studies of tool use, indicate that right-or left-sided dominance is not exclusive to modem Homo sapiens. Populations of Neanderthals, 
such as Homo erectus and Homo habilis, seem to have been predominantly 
right-handed, as we are.
31. What is the main idea of the passage?                            
(A) Human ancestors became predominantly right-handed when they began to use tools.               
(B) It is difficult to interpret the significance of anthropological evidence concerning tool use.         
(C) Humans and their ancestors have been predominantly right-handed for over a million years.                                                                   
(D) Human ancestors were more skilled as using both hands than modern humans.                            
32. The word "other" in line 8 
(A) outline
(B) hand
(C) wall
(D) paint
33. What does the author say about Cro-Magnon paintings of hands?
(A) Some are not very old.

(B) It is unusual to see such paintings.
(C) Many were made by children.
(D) The artists were mostly right-handed.
34. The word "implements" in line 13 is closest in meaning to
(A) tools
(B) designs
(C) examples
(D) pieces
35. When compared with implements "flaked with a counter-clockwise rotation " (line 15), it can be inferred that "implements flaked with a clockwise motion" (lines 13-14) are
(A) more common
(B) larger
(C) more sophisticated
(D) older
36. The word "clues" in line 16 is closest in meaning to
(A) solutions
(B) details
(C) damage
(D) information
37.The fact that the Inuit cut meat by holding it between their teeth is significant because
(A) the relationship between handedness and scratches on fossil human teeth can be verified
(B) it emphasizes the differences between contemporary humans and their ancestors
(C) the scratch patterns produced by modern knives
(D) it demonstrates that ancient humans were not skilled at using tools
38.The word "hemispheres" in line 24 is closest in meaning to Questions 42-50
(A) differences
(B) sides
(C) activities
(D) studies
39. Why does the author mention Homo erectus and Homo habilis in line 27?
(A) To contrast them with modem humans
(B) To explain when human ancestors began to make tools
(C) To show that early huma.is were also predominantly right-handled
(D) To prove that the population of Neanderthals was very large
40. All of the following are mentioned as types of evidence concerning handedness EXCEPT
(A) ancient artwork
(B) asymmetrical skulls
(C) studies of tool use
(D) fossilized hand bones
41. Which of the following conclusions is suggested by the evidence from cranial morphology (line 21)?
(A) Differences in the hemispheres of the brain probably came about relatively recently.
(B) There may be a link between handedness and differences in the brain's hemispheres.
(C) Left-handedness was somewhat more common among Neanderthals.
(D) Variation between the brain's hemispheres was not evident in the skulls of Homo erectus and Homo habilis.
Questions 42-50
Plants are subject to attack and infection by a remarkable variety of symbiotic species and have evolved a diverse array of mechanisms designed to frustrate the 
potential colonists. These can be divided into preformed or passive defense mechanisms
Line  and inducible or active systems. Passive plant defense comprises physical and chemical 
(5)   barriers that prevent entry of pathogens, such as bacteria, or render tissues unpalatable 
or toxic to the invader. The external surfaces of plants, in addition to being covered by 
an epidermis and a waxy cuticle, often carry spiky hairs known as trichomes, which 
either prevent feeding by insects or may even puncture and kill insect larvae. Other trichomes are sticky and glandular and effectively trap and immobilize insects.
(10) If the physical barriers of the plant are breached, then preformed chemicals may 
inhibit or kill the intruder, and plant tissues contain a diverse array of toxic or 
potentially toxic substances, such as resins, tannins, glycosides, and alkaloids, many of which are highly effective deterrents to insects that feed on plants. The success of the
Colorado beetle in infesting potatoes, for example, seems to be correlated with its high
 (15)    tolerance to alkaloids that normally repel potential pests. Other possible chemical
defenses, while not directly toxic to the parasite, may inhibit some essential step in the 
establishment of a parasitic relationship. For example, glycoproteins in plant cell walls 
may inactivate enzymes that degrade cell walls. These enzymes are often produced by 
bacteria and fungi.
(20) Active plant defense mechanisms are comparable to the immune system of 
vertebrate animals, although the cellular and molecular bases are fundamentally 
different. Both, however, are triggered in reaction to intrusion, implying that the host 
has some means of recognizing the presence of a foreign organism. The most dramatic 
example of an inducible plant defense reaction is the hypersensitive response. In the 
(25) hypersensitive response, cells undergo rapid necrosis—that is, they become diseased 
and die—after being penetrated by a parasite; the parasite itself subsequently ceases to 
grow and is therefore restricted to one or a few cells around the entry site. Several 
theories have been put forward to explain the basis of hypersensitive resistance.
42. What does the passage mainly discuss?
(A) The success of parasites in resisting plant defense mechanisms
(B) Theories on active plant defense mechanisms
(C) How plant defense mechanisms function
(D) How the immune system of animals and the defense mechanisms of plants differ
43. The phrase "subject to" in line 1 is closest in meaning to
(A) susceptible to
(B) classified by
(C) attractive to
(D) strengthened by
44. The word "puncture" in line 8 is closest in meaning to
(A) pierce
(B) pinch
(C) surround
(D) cover .
45. The word "which" in line 13 refers to
(A) tissues
(B) substances
(C) barriers
(D) insects
46. Which of the following substances does the author mention as NOT necessarily being toxic to the Colorado beetle?
(A) Resins
(B) Tannins
(C) Glycosides
(D) Alkaloids
47. Why does the author mention "glycoproteins" in  line 17 ?
(A) To compare plant defense mechanisms to the immune system of animals
(B) To introduce the discussion of active defense mechanisms in plants
(C) To illustrate how chemicals function in plant defense
(D) To emphasize the importance of physical barriers in plant defense
48. The word "dramatic" in line 23 could best be replaced by
(A) striking
(B) accurate
(C) consistent
(D) appealing
49. Where in the passage does the author describe an active plant-defense reaction?
(A) Lines 1-3
(B) Lines 4-6
(C) Lines 15-17
(D) Lines 24-27
50. The passage most probably continues with a discussion of theories on
(A) the basis of passive plant defense
(B) how chemicals inhibit a parasitic relationship.
(C) how plants produce toxic chemicals
(D) the principles of the hypersensitive response.
